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2015-2016 Geometry Review for Final Exam

Unit 5 Right Triangles

For #s 1-4, determine if the triangle is acute, right, or obtuse.
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For #5-14, find the missing side or sides of the triangle. Leave your answer in simplest

radical form.
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Find the missing sides.
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Find the indicated angle to the nearest degree.
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Find the missing side. Round to the nearest tenth.
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25)Ladder A ladder is leaning against a house. The ladder is 13 feet long and the foot of
the ladder is 5 feet away from the base of the house. How far up the side of the house
does the ladder reach?
2 9 2
*ah=1%
" %126 - 160
X MY
J——
2y |Xeta b ]

PRy

<

26)Solve for a.
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Decide if the segment lengths form a triangle. If so, would the triangle be acute,
right, or obtuse.
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30)Tree height A biologist is standing 50 feet from the base of a large oak tree. The
biologist measures the angle of elevation of the tree to be 57°. Find the height h of
the oak tree to the nearest foot.
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Find the value of each variable. Write your answers in simplest radical form.
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33)You need to determine the area of a garden which is in the shape of a right triangle.
The hypotenuse measures 25 feet and one of the acute angles measures 36°. Round
your answer to the nearest tenth.
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34)Use the Law of Sines to find the missing 35)Use the Law of Cosines to find the
side lengths of the jriangle. missing angle measures.
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Unit 5.5 Transformations

37) Given point A is located at (1, 3), what is the final image of A after this series of
transformations?
(1) Reflect A across the y-axis
(2) Translate the image such that (x ,y) - (x -4,y + 2)

() yaxis: (x,¥)2 (-x,y) (2) (xy)2 (x4, y+2)
(3) > (-,3) (43) 2 (-1-4, 3+2)
A‘(-h”)) A"('S,S)

38)Graph ALMN with vertices L(3,-1), M(1, -5), and N(4, -3).

a. What are the coordinates of L', M', and N' after a counterclockwise rotation of 180°?

b. Take the image from part a and perform the translation (x, y) =(x - 3,y - 4). What are

the coordinates of L", M" and N"? 1ot
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39)What transformation will map the darker figure onto the lighter figure? Give the

proper notation. ERNRRRRURRT SRURRRRNEY
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40)The point A(4, 3) is rotated 90 degrees counterclockwise about the origin. What are
the coordinates of the image?

Rotate 90° ccw: (XY ) 2 (=Y. %)

A3) 5] A'(-3.4) ’



41) Identify the coordinates of (10, -20) after a 270° counter-clockwise rotation about
the origin. 270° RofahoNn CCW ! (x.Y ) > (y-x)

(0,-20) 9‘(-10,—\0))

42) Graph AABC after a composition of the transformations in the order they are listed.

You may use the grid below to help you find the coordinates of the images. ")
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43)Find the coordinates of the dilation image of AGHJ centered at the point (2, 4) with a
scale factor of % given coordinates 6(-8, 2), H(-2, 2), and J(-4,
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Unit 6 Polygons

2 (0-3) 160
Find the sum of the measures of the interior angles of the indicated convex polygon.
37) 13-gon 38)Octagon
(13-2) 180 (¢-a)- (&0
=] 19€0° ]wz«o
39) 22-gon 40) Pentagon
(33-a)+180 (5-2)-180
= {qu'
:‘%00“ i E_]

41)In the figure at the right, o X
a.) What is the value of x? 10x + 3) (9x-3)
(Section 8.1)
Whx -9 = 640
¥ =554

e

b.) Find the sum of the measures of
the exterior angles, one at each

vertex.
)%0° ]

(8x - 12)°

Qum = 540

(12x - 9)°

460
Find the measure of each ex?er'lor- g‘ngle in the following regular polygon.

42)Quadrilateral 43)Octagon
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Find the value of n for each regular n-gon described.
h

(h-2)\80

RS

44)Each interior angle of the regular n-gon has a measure of 165°.

oh _ (n2) 160 150 -360
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45)Each exterior angle of the regular n-gon has a measure of 60°.
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46)The sum of the interior angles of the regular n-gon is 2700°.

2100 = (n-2) 180
150 150

\9zn-a & Nn=\7

Find the values of each variable in the parallelogram.
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50) The sides of ZMNPQ are represented by the expressions below. Sketch ZMNPQ and

find its perimeter. N x-p =0
— =2 *-bs-3%46%  12-37: 42-3
MQ =-3x + 58 4
QP = 4z-3 450y 3= 1
Xl tz-3 ‘—---]
NP =x-6 ; = -
MN = 7z- 27 = =1 I’X&_ f,B_f
— Q
M s o

P=10+10 +29+29

’P=18umh}

For what value of x is the quadrilateral a parallelogram?
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The diagonals of rhombus ABCD intersect at E. Given that mZBAC = 50°, AD = 13,
and DE = 10, find the indicated measure.
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60)Use the diagram of the parallelogram MNOP at the right to complete each statement.
Explain. .
a) MN = _0¢ e) MN I _OF
o N
b) ON = W\ f) 2«MQN = <«0QF
¢) Pg=_WQ g) Mg=_0Q
d) ZMQN = 40 h) 2NPO = “PNM

61) Find the length of the midsegment of the trapezoid.

10.4 WN: 2 (104416,8)
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Points P, Q, R, and S are the vertices of a quadrilateral. Give the most specific
name for PQRS. Justify your answer using distance formula, slope formula, midpoint
formula.

62)P(0,—1),Q(2,—l),R(5,—6),S(0,—3) ‘
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PQ - | (-0)% ()2 - @ -14-3

QR= {(5-a)% (con)? - J(3)% (0)? - {ae2s = B0 1 T

1]
| -
1

i

- L (500 h (om = () ()? - 4zcaa = 130 S TN
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63)P(-2,4),Q(-6,6),R(-9,3),5(-5,1)
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64)Graph the points A(3,2), B(1,-2),((2,—5),D(4,—1) on the coordinate plane. What kind
of quadrilateral is ABCD? Use mathematics to justify your answer.
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Sketch a quadrilateral having the characteristics described. Mark any required
congruencies.

65)A rhombus that is not a square.

66)A kite
o
S

67)Find the length of the midsegment of the trapezoid.
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68)Find UV
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Find the measurement of the angle indicated for each trapezoid.

69)Find msL 70) Find mzA
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71)Find the length of EG if EG = 4x — 31 and DF = 3x — 19.

P, WX-31= 2% -1
\\\\\ f/,e X=\2
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Find the measurement indicated in each parallelogram.
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74)Find the value of x in the figure
x+36 =1 (4% +10429)

) 4x ‘+;;1 { :
\ W/ X+36 = & (4X+30)
AN X+35 gk
\ v Xtd3H = axtlh
,a\ _'f' 2
20 20 =X

75)Quadrilateral PQRS has diagonals PQand RS that intersect at point T. For the

conditions given below, state the quadrilateral which they best describe. If none,
write "none".

a. PSIQR,PS=0R \sofceles Trqpc'wld ¢ A

b. PQRS is a parallelogram, PR 1 S RnhompuJ

c. PQRS is a parallelogram, PR = QS PR = 0S, ‘ >
Recangie
d. QPIRS
none

76)In trapezoid BECK, the m«B is 5 times the m«K and BE || CK. Find the mzK.
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77)If rectangle JKLM has MK =3x —5,JL =2y +5,KL=x+5,and JM = 4y — 5. Find JK

and KL. ]
ME = dL kL_‘:YM N \)<4{“ 13
) K6z 4y-§
35 = 1y 46 | ) M
A ¥
3z 2y +10 =X 22,
At =13
29 =3%-10
X0
Yy < hx-20 A: 43
X0 = bR-20 K=4(3
0:6%-20 KL= 645 <il
B4=30
| 9= I |x=b ]
78)If the figure is a kite, find the values of {5bi

x and y
x=_40
y=_-%
MHy=15 ay(wﬂ@
- xagg0] iyt
59 =29
5]

L2

(x-2y)° (o fF

L]

24-65-T1H

o/ (@xty)°

40°

79)In quadrilateral LMNO, if msL = m«N, how could LMNO not be classified?

a) parallelogram b) kite

c¢) trapezoid

rhombus

e) None of the
above



Unit 7 Circles

80)Identify each in the diagram.
a. Radius (D, Ch
b. Center (¢ g
>
c. Tangent ,E-z/ pH

d. Chord ;\’6’6@

&5

e. Common Tangent ®BH
f. Diameterpp
o~
g. Secant A

Determine if line AB is tangent to the circle.
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Find the segment length indicated. Assume that lines which appear tangent are

tangent.
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Find the perimeter of each polygon. Assume that lines which appear tangent are

tangent.
85) o\\,’\ 86) s
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Solve for x. Assume that lines which appear tangent are tangent.

87) 88)
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Find the value(s) of the variable. Points B and D are points of tangency.
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3x2 + 1
B 76 =3%"%)
~FolL O:SXI-—M
Feaq’ (r+|‘|) 0: 3(x%25)
K166 = 124 34r +a69 0-%"26

1166 <34 r + 2§79 26 = X*
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Determine whether the given arcs are congruent. Explain why or why not.
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Find the value of the variables.
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Find the value of x.

96)

87°

%= 4 (51+59)

%= 5 (14w)

98)

40X-1)= 3X
UX-4 =3y
4= -x

[

100)
15

15% X (x¢2)
N6 - X))
X+ix-226 = 0
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~
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38
e s

3¢ - %(gx -4 -(X+8))
38> & (5x-4-X-8)

2%+ & (4%x2)

3g=ax-b
gy = X
\x=aa
99)
10
2
0 (23) = $X N
230 - %)( {'B\‘
b =8%
101)
D 76 A
3x2 + 1
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0= 3(W-2)
0= X-26
26 = x*



Find the measure of the arc or central angle indicated. Assume that lines which

appear to be diameters are actual diameters.
103) mzGCH  <|Ys°

102) msDAF
& __&2F . D 350 "
'00 "'\ B ~ \]‘&" (E\] 1’. | \
B ah .\' 0" : . I'qz
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\ z , C ]
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» \~ 0 & £
120° e’
F 107

mcDAF = 68400

o< 15°

Find the measure of the arc or angle indicated. Assume that lines which appear to

be tangent are tangent.

1%6504\” 105)
2y \l\ a3 X= 3 (262-108)
\ 120\ % E/108% \C
\ _." Noo” J I". = l
Q«,L ]X"la l
| -
X= 3 (a4¢-12) 360108
X+ 3 (13b)
‘)Vb? I
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\ 7S 0ARF
A s “% ®
*= 3 (1e4-1) ‘
‘ = 3 (177-49)
X= 7 (42)
x= 7(118)
‘ 4 ,
ol %= b4
110) 111)
L - \
K (S
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o a
120 3 (X+65)

240+ X +b5 Ve BIREX

112)  Suppose a space shuttle is orbiting about 180 miles above Earth. What is the
distance d from the shuttle to the horizon? The radius of Earth is about 4000 miles.
Round your answer to the nearest tenth.

4000 4% = (180+4000) "

4000 +d% = 1&0"
4% < 12400




Use the given information to write the standard equation of the circle.

113)  The center is (-3,2) and a point on the circle is (5,2).
r=J(543) '+ (2-2)* = {()* = Jot -8

@M)QH\)“Z):: b4 /

114)  The center is (6,-1) and a point on the circle is (- 1,6).
re {5 (1 o) = d0%()* - {waryg = ag

(%-6) " (y+1)?= A€ *
I (x-6) 41y +1)*=9¢ }

Identify the center and radius of each circle. Then sketch the graph.

115) x? +y? +20x +28y +277 =0 116) x?+y2+10x+2y—123=0
2
X 420X+ 100 +y*+28gt196 = -q7T+00+96
T 7
2020)=19 3(28)7 1Y . %
(10)* 100 (4= o )t+l,g)(+ 25 +y 1425 t_ 1 =nuz+25 ¢l
N %(ID)'=5 %(1):1
(X+10)™+ (y+14)= 1g (s)%25 '

(x¢6)%4 (yr)’ =19
Cender: (-10,-M)  rndwas ={q 2y

conter s (=6,-1) radiug = Jiud 21a.3
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17) x+3)32+@-1)%=1 118) x*2+(y+4)?* =4
c(-31) ¢(9,-9)
r=\ Y:a

i
|
i
|
|
|
s s>

~rtT1T1TTvT-11r—11 BT

L /
~V
Use the information provided to write the equation of each circle.
119) Center: (11,-13) 120) Center: (11,9)
Radius: 4 Radius: 3
(X1 4(y+13) 2 = o (x-1) % (y-9): 9
121) Center: (—2,6) 122) Center: (—8,-5)
Point on Circle: (—11,7) Point on Circle: (—17,-2)
(1) (g-0)% g3 (x¢§)*¢ (y15)* = q0
et (o) - o= den 0= e+ (2400 - T149 = Jao
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Find the length of each arc. Round your answers to the nearest tenth.

125)

XL 1B
a1 30

20X = 10418 %%

‘xz 28.%yd ‘

126)

. S
2w(ip) 340

3pbx > 24504402
X26&10m

Find the area of each sector. Round your answer to the nearest tenth.

127)

W 43em b

A b
T 360

2004 = 31865 1220
A= 88.4om”

128)

121

A2
w(1¥)?* 260
360A =239 £14.0532

A:N0.0H?

Find the areas of the sectors formed by «DFE. Round answers to the nearest tenth.

Also find the length of arc DE.

129)
G D
.E
orc:
£ . o ared
awlp) 90 A z;".“_
360
20X = 5428.66752 o)

360A = ‘-}341@”“02
x= \6.) 64

: [rwoett” |

130)

180°

ored’

. n—
Are. - A 160
\bo — T
{é—‘;)‘- 260 (1r)* 300

360% = 13009.004Y 300p = B49US. 59%b

%= 3b.b U p=236.9Tom*
> 3pAUN R

l Bk = 36.30m ]



131) How can you convert a radian measure to degrees?

muthyly by 180
1]

132) How can you convert a degree measure to radians?

multiply by T
HY‘&)

133) Convert 40° to radians.

%0-w 4o _ Y- | 2
(30 80 ~ & | 9

|

134) Convert “Tn radians to degrees

W iso _ 19do
3 £ 3 = |6kl

Unit 8 Surface Area and Volume Formulas

135) Find the surface area and volume of the right hexagonal prism.

n Shz 2B+ Ph
¢ i Bmi = 2(1bb.277) + (8))
‘ ,.'-"———“-—-f wm V= Bh = 393,994 + 528

/, N - ‘
\ (we.211) (1) lgpf - 26056 m™

[V = 1x10.06m* | o

%’ a: 6A
q \ P‘ ug
L—’w B: 1 (pA2NUY) < tob. 1Y
h= il
fn30= 4
T a
R



136) Find the surface area and volume of the right cylinder.

-6 cm B a2 h
=T Sh=am *+ amy
S Vem

= a9cm  *T(6)u4) e am(o)% am(6)(4:9)
v 554,18 om” I \s& - a0 42un?]

137) Find the height of the right cylinder shown, which has a surface area of 168.09
square meters, CA=amrn+ anrt

\b?.‘)qf—aﬂ[‘-\)h*a‘f(‘\)a

= p W0k = 2643h +100.53
1hb= 20130
[he2.6tm |

138) Solve for x given the surface area of the right prism is 274.39 ft>. Round your
answer to two decimal places. CA=abtPh
b= (048 )lea2) = 63954
P= 3514

h=X

214.39 - 2(6345%) +3344 X
10.45 ft 214,59 = 121,908 431 ¥
Y82 =234 X
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139) The volume of solid below is 78 cm®. Solve for x.

V=6h
18- 1549 X

|x=5.060mi

(=300
P=16
B~ 4 (13)(206) =154



140) Find the surface area and the volume of the solid. Sovy = amr+anrh

25 yd Vouter = Tr*h = anls)™ an(s)(as)
3yd /\ = (s)(28) = 443418 - aw(i5)*
10 yd \I 0 = 963,495 = 438,34
Vinner = “—(15)1(29) € iner = anrh
2 116,116 =an(5)(as)
2 236.614

Tofm) Vo1 = 1463406116 NS
[y = 1156718 o;] Toral SA 29234 £226.619

141)  Find the surface area and the volume of the pyramid. o= 10396 \Jdm
RABRAALLA o

21
V=38h CA= 5P+

) 9.25 m = 4 (56.0664)(428) - 1 (a0,08)(4.906) + 55.0664
h V= 10436m” = WB954 65,0664
& B [sh = 2296m™ |

742 m I
3h9.26% 2%

TRUSIES ¢5.9625=0"

B=(14r)(142) = 650604

44,5206 4
2-9.966 P=14a-4 > 2048
142) Find the surface area and volume of the cone.
V-4 wa%)@43) Ch=urk+mr?
2
apl  \L V< 2210.% on® { = 1(q9%)(.0) + T@93)
- |Sh = wdbun® f
| e
993
CTTRPIC: Y
s51.4aip =L’
=13

143) Nicole is buying an aquarium in the shape of a rectangular prism and measures 3.5
feet by 4 feet by 4 feet.

What is the volume of the aquarium? \=Bh
Bz (W)) = b = (16)(3.5)
hz;‘g IV:Sbe]




144) The volume of the pyramid below is

Ve 5 eh
V= 5(63)6)

B=(9)(7) = b3
heb

145)  Describe what happens to the volume of a cone if its radius is doubled while its
height is halved. The volume is

[A] unchanged

oubled

[€] increased by a factor of %

[D] not able to be determined

h=10
V=3 w(4)*(10)
= 1b1.69

gL
161.6S

146) A machinist drilled a conical hole into a cube of metal

as shown. If the cube has sides of length 8 cm, what is the

volume of the metal after the hole is drilled?

Use = 3.14 and round to the nearest tenth.

Vape - E)X)  Vanes gmeh
= ‘3\6\ a ‘%ﬂ‘[\‘)l(?)
z 13404

Tofol Vol = 513~ 124.04

:\3'11%(11\3}

(=8
hzb

V=3 w($)(%)

= 336.10




147) The base of the pyramid below is a non-regular heptagon
with an area of 30.0 square yards. The height of the pyramid
is 6.6 yards. Find the volume of the pyramid.
V=5 8h
=3 ()(6.b)

148) Find the volume of the figure to the nearest tenth.

Base area — 30 yd”

V('\” S T\'Ylh v(/\)n( £ %“Tzh
= T(3)(6) - L T0Y0)
= 3 mm
4137 oo d]

Tora) Vo= W3 T +66.47

149)  Find the volume, to the nearest cubic foot, of a sphere whose surface area is 100 fi?,

h :“”i v: $(asa)’

100 = 4oy _—

19621 V=059 ¢ m
=284 -

150) A sphere fits snugly inside a right cylinder as shown below. Find the volume lying
outside the sphere but inside the cylinder to the nearest tenth of a cubic inch.

Vey - T0h Viall = 3707 | 5 in, .
- 10() = 4\ Vo
- 16,7 N <.
] 13 1 ‘

L4 o k4

tofal vol = 16.7-4.19
szw’]




